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Used for all kinds of general cargo.
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20’ Steel Dry Cargo Container

Exterior (71 filf) Interior([* | #[1) Weight(E1 £
Length(=<) Width (1) Height(;) Length(<) Width(§'7) Height(j) MGW TARE NET
6.06m 2.44m 2.59m 5.90m 2.35m 2.39m 24,000kg 2,320kg 21,680kg
T~ e PREEEIEZETEIRE 40° Steel Dry Cargo Container
Used for all kinds of general cargo
Exterior(Jt #£[%) Interior(]” [#[') Weight(E1E1)
Length(<) Width(r) Height(ih) Length(<) Width(¥r) Height(i) MGW TARE NET
12.19m 2.44m 2.59m 12.03m 2.35m 2.38m 30,480kg 3,940kg 26,540kg
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Used for all kinds of general cargo

Hi-Cube Steel Dry Cargo Container

Exterior(J} Iﬁ[ﬁ)

66.58 cu.m.

Interior([* [F%) Weight( £

Length(<) Width (1) Height() Length(<) Width(§'7) Height() MGW TARE NET

12.19m 2.44m 2.90m 12.03m 2.35m 2.69m 30,480kg 4,160kg 26,320kg

= Y LB 40’Hi-Cube Refrigerated Container
Exterior (7} #[') Interior (] [{[7) Norminal Weight(E1E1)
Length(-<) Width('gﬁ’) Height(ﬁgj) Length(:<) Width('g‘f) Height(ﬁfj) Cubic MGW TARE
Capacity
12.19m 2.44m 2.90m 11.62m 2.29m 2.51m 2351 cu.ft 30,480kg 4,160kg
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EI1EHPE 1 Ton(J¥H)=1,000kgs
PR - 1 M? =1CBM=1 1,

FHEHE

1 M=100 cm

1 M3=100 cm X 100 cm X 100 cm
1 M**1 Cubic Meter =1 CBM

1#f=1 Cubic Feet (1. fl})=1 Feet® fiR 1% 1
=1 feet X 1fee X 1feet (3t f~)°

=12" X 12" X 12"=1728 [+ 3

=30.48 cm X 30.48 cm X 30.48 cm
=(0.3048M) ?

=0.02831684659M°

.".1M3=35.3146667239 } (35.315)

(ETHTAVEIE )
= AR (CM) X JIHCM) Xy (CM) = 28317(222%) = ff
F X #ikl + 35.315= CBM (M)



Conversion Table
1MPa=145psi=10.2kg/cm2=10bar=9.8atm
1 J-F(MPa)

=145 @»/w 2(psi)

=10.2 " FulEi-f 2(kg/cm2)

=10 *'I(bar)

=9.8 /4. (atm)

1 millimetre Z=k=0.03937 inch Z&~f

1 centimetre EX=10 mm. ZK=0.3937 inch &<

1 decimetre 432k=10 cm. JEK=3.937 inches Z&~J

1 metre 2K=10 dm. 42k£=1.0936 yards #3=3.2808 feet TR



1 decametre +k=10 m. >K=10.936 yards %3

1 hectometre F(=100 m. >k=109.4 yards 3

1 kilometre F£=1000 m. #=0.6214 mile ZE
1 mile marin #BE=1852 m. ¥=1.1500 mile &

S 11 b A
’;S.Skﬁﬂ@——ﬁb,%iﬂﬁ : K=5/9 (‘F+459.67)
o PRV —— R K="C+273.15

ir’,'{iﬂﬁ——%ﬁiﬂﬁ - NF=[(n-32)x5/9]'C  n'C=(5/9-n+32) F



P
1"/ (o) =L (- F) —4186.8 £/ (T - P ) Lkeall(kg - C)=1 Btu/(lb -
"F)—=4186.8 J/ (kg - K))

Ppfdeai b [ 174K (m2) =9.81x1011 347 1=9.81x1014

PRpE et A 1°C/ 2T E1=0.1°C/100 & (°C/m) =2.9°F/F E ("F/mile ) =0.055'F/100 ¢~ ("F/ft)

B B A
17/ (K 2 - °C ) =1.16279 51/ (K 2 - 7 50 ) =0.2048 Huffeat i/ (02 - it - °F)  kcal(m2-h-

'C)=1.16279W/(m2-K)=0.2048 Btu/(ft2-h-°F )



it i o i
147 (F - pf - °C) =1.16279 5/ (5 - 7 b ) =0.6720 Hofftr i/ (- i - °F) 1 keall(m -

h - C)=116279W/(m - K)=0.6720But/(ft - h - F)



